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Consider a very simple small open economy
monetary model ("Dornbusch model”)

- Two variables, but only one “jump” variable

- Exchange rate (flexible) and price level (sticky)
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First put model into matrix form:
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To solve, look for solutions of the form:
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...a deterministic vector difference equation:
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which can be solved for the »'s
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Y1+ Divide into homogeneous
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A is a diagonal matrix composed of the eigenvalues of A.
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Guess form for particular solution
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Particular solution now found from this




For stability we set
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Example
a=.10=1p=1
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Larger models can be solved numerically, though
economic intuition is easy to lose
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where

y, Isa vector of endogenous variables

(like the exchange rate or the price level),

X, 1sa vector of exogenous variables

(like the money supply)

u. Isa vector of random variables.



